FERERAEREAK KRR KB R R F A&
+ CONT. FROM 'SHT" 3
29 [ALCG PRESSURE INDICATOR WITH 1/2 1
DIAPHRAGM SEAL
[TRACING SPEC: S-TRACING (NOTE-10)
[area: CETYL 2" _ALCG-20030

PIPING GA NO: —

P& D NO: 1020

STRESS CRITICAL: NA

OP.TEMP: 280 °F

OP.PRESS:30 psig

TEST MEDIUM: wydro

DES.TEMP: 400 -

DES.PRESS! 150 psig

TEST PRESS: 235 paig

SCALE: NONE

INSUL.TYPE: N5-CELLULAR

INSUL.THK: 1.5

LINE NO. /

FILE NaME ;. 27 —ALCG-20030

‘ISSUE:

R4

SHT.  3ACF

TCE FORM NO. 027 RO

SIZE-A3



CONT. ON

TSHT' 2 N

EL +4'7"

2x1°NS
EL +4'2"

F8 G13 B16

CONT. ON
17-ALCG-20032
E 17'8.1/8"
N 9'3.3/16"
EL +4'2"

FABRICATION MATERIALS
5 1
EL "k 18 PT |SPEC [COMPONENT DESCRIPTION N.S. [aTY
2"NS EL +3'0.1/8" NG
]\‘\ PIPE
< i 1|ALCG  |PIPE STD WT SMLS STL A106-B 7 2.6
™~
5.7/16"_% FITTINGS
2|ALCG |REDUCER CONC STD WT STL A234 WPB |2 x 1
2x1.1/2"NS BW 1.1/2
FBN. 3|ALCG  |TEE STD WT STL AZ34 WPB BW 2x 1| 1
50-G-319_DISCH 4|ALCG |WELDOLET STD WT STL A105 2 x 1
Tt 172
19'8. 1
E e 555.1 5[|ALCG  |ELL 90 DEG LR STD WT STL A234 |2 3
EL +2'6.1/2" WPB BW
. 6|ALCG |TEE STD WT STL A234 WPB BW 172 x| 1
4.1/4 172
E 194" 7|ALCG  |NIPPLE POE/TOE NPT 100MM LONG  |1/2 1
N 9°5.3/16" ASTM A105
EL +5°3.3/16"
FLANGES
EL +5'3.3/16" S
PL F8 Gi3 B16 A i 8|ALCG |FLG WN 150# RF STL STD BORE A105 (2 3
: 9|ALCG  |FLG WN 150# RF STL STD BORE A105[1.1/2| 1
5 T A F10 G15 B18 [19] RS 10|ALCG |FLG WN 150# RF STL STD BORE A105|1/2 5
: ] & EL +4'G.5/16" P 11|ALCG  |FLG BLIND 1504 RF STL A105 12 1
N . e F& G13 B16 _ g
>1 - i ERECTION MATERIALS
& o EL +4'5 _#
o 1/ 4 A PT [SPEC |COMPONENT DESCRIPTION N.S. |aTy
o | ' A NO
g g .C. y
1/2x1,/2"NS i ! Y < Ll
EL +4°2.1/8 = # 12|SUPP  |SPS-2 RESTING SUPPORT 2 1
Fio 615 818 7-3/16" K| .
2.7/8" NG GASKETS
AT L 13|ALCG  |GASKET 1504 18" 304 SPRL WND |2 3
V) W/FLEXICARB TYPE CG
14|ALCG  [GASKET 1504 1/8" 304 SPRL WND  [1.1/2| 1
f P W/FLEXICARB TYPE CG
4.0/4" ] AN 15|ALCG  |GASKET 1504 1/8* 304 SPRL WND  |1/2 6
" '*‘ W/FLEXICARB TYPE CG
/ -/’ EL +3'11.3/16"
3 i o F10 Gi5 B18 BOLTS
. . 16|ALCG  [3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16] 12
EL +376.15/16 W2 A194 GR 2H NUTS
3.13/16 17|ALCG  [2.374 x1/2” STUD BOLT A193 GR B7 |[9/16 | 4
W/2 A194 GR 2H NUTS
18|ALCG  [2.3/8 x1/2" STUD BOLT A193 GR B7 |9/16 | 24
W/2 A194 GR 2H NUTS
VALVES / IN-LINE 1TEMS
19|ALCG  |GATE 150# FLANGED RF C.STL F6 |2 1
TRIM
20|ALCG  |GATE 150# FLANGED RF C.STL F6 |12 2
TRIM
21|ALCG  |BALL 1504 FLGD RF FULL PORT S.S.|1/2 1
BALL & STEM
INSTRUMENTS
22|ALCG  |PRESSURE INDICATOR WITH 12 1
DIAPHRAGM SEAL
[TRACING SPEC: S TRACING (NOTE_10)
AreAa:  CETYL 2" -ALCG-20031
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 OP.PRESS: eopsio TEST MEDIUM: Hyaro
DES.TEMP: 40 DES.PRESS: 15 TEST PRESS: s
SCALE: NONE INSUL.TYPE: K5-cELLULAR INSUL.THK: 1.5

LINE NO. N
FILE NAME/: 2"-ALCG-20031

|ISSUE:

R4

I1ZE-A3

TCE FORM NO. 027 RO

| s



FABRICATION MATERIALS
PT [SPEC [COMPONENT DESCRIPTION N.S. [aTY
NO
PIPE
1|ALCG  |PIPE STD WT SMLS STL A106-B 2 7
2|ALCG  [PIPE STD WT SMLS STL A106-B 1 4.7
FITTINGS
3|ALCG  |REDUCER CONC STD WT STL A234 WPB (2 x 1
BW 1.1/2
4|ALCG  |ELL 90 DEG LR STD WT STL A234 |2 5
WPB BW
S|ALCG |TEE STD WT STL A234 WPB BW 112 1
EL +1174.1/4" %1
. % 6|ALCG  |ELL 90 DEG LR STD WT STL A234 |1 1
\ ' S WPB BW
A NG . ( B B
d ; : y FLANGES
It e N J 7|ALCG  |FLG WN 1504 RF STL STD BORE A105 |2 1
i s, \\. 8|ALCG  |FLG WN 150# RF STL STD BORE A105|1.1,2| 1
! | 6 9|ALCG |FLG WN 1504 RF STL STD BORE A105 |1 2
Il \| EL +10°7.1/4°
il ERECTION MATERIALS
W
| § PT [SPEC |COMPONENT DESCRIPTION N.S. |aTy
i | NO
: | .
i |
=gl < FITTINGS
s ) o
¥ !{ o 10[SUPP  [SPS-37 TWO DIRECTIONAL RESTRAINT |2 1
| Lo SUPPORT
I o 11[SUPP  |SPS-2G GUIDE SUPPORT 1 1
It z GASKETS
| EL +670.7/16" —
i | 12|ALCG  |GASKET 1504 1/8° 304 SPRL WND |2 1
It W/FLEXICARB TYPE CG
13|ALCG  |GASKET 1504 1/8° 304 SPRL WND  [1.1/2] 2
21 1/2°%5 6 |GASKET 150§ /" 30
; . 14 |ALC ASKET 1504 1/8” 304 SPRL WND |1 2
: BL 2" 2 A/16 W/FLEXICARB TYPE CG
[ BOLTS
4.11/16" 1.1/2x1"NS /—
1 EL +5'7.3/16" 15|ALCG  |3.1/8 x5/8* STUD BOLT A193 GR B7 |11/16| 4
W/2 A194 GR 2H NUTS
i 16|ALCG  |2.3/4 x1,2* STUD BOLT A193 GR B7 |9/16 | 4
F8 G13 B16l EL +5'2.1/8 W/2 A194 GR 2H NUTS
EL +5'2.1/2" 17|ALCG  |2.9/16 x1/2” STUD BOLT A193 GR  |9/16 | 8
. . S B7 W/2 A194 GR 2H NUTS
Gi3] EL +4°7.13/16
6.4 30 VALVES / IN-LINE ITEMS
72" CONT. FROM/
"SHT' 1 18|ALCG  |GATE 1504 FLANGED RF C.STL F& |2 1
TRIM
19|ALCG  |GATE 1504 FLANGED RF C.STL F&  [1.1/2| 1
TRIM
20|ALCG  |GATE 1504 FLANGED RF C.STL F6 |1 1
TRIM
CONT. ON_»"
SHT* 4
[TRACING SPEC: S-TRACING (NOTE-10)
AREA:  CETYL 2" -ALCG-20031
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 OP.PRESS : 80psig TEST MEDIUM: syaro
DES. TEMP' 450 DES.PRESS: g0 TEST PRESS: 55
SCALE: NONE INSUL.TYPE: ns-ceLLuLar INSUL.THK: 1.5
INE NO. N ISSUE:
LINE M-S 9 Ml £6-20031 | R4

SHT. 2 0F 7 TCE FORM NO. 027 RO

SIZE-AZ



CONT. ON

SHT 4 N\~

6.1/2"

4.11/16"
EL +2'4.

4
EL +2'0.

Fé G11 B13
P

Py d

7/16"

/4
178"

TO DRAIN

E 9'5.9/16"
N 14"11.1/8"
EL +23.9/16"

CONT. FROM
'SHT' 2

7'8.3/8"

6.1/2" ==
EL +3'3.5/8"
F6 G11 B13

4.1116" _|

F6 G11 B13

FABRICATION MATERIALS

PT [SPEC |COMPONENT DESCRIPTION N.S. [aTy
NO
PIPE
1|ALCG  [PIPE STD WT SMLS STL A106-B 1.12| 1.5
2|ALCG |PIPE STD WT SMLS STL A106-B 172 | 0.5
FITTINGS
3|ALCG |TEE STD WT STL A234 WPB BW 1.172| 2
X
1/2
4|ALCG |ELL 90 DEG LR STD WT STL A234  |1.1/2| 1
WPB BW
5|ALCG ELL 90 DEG LR STD WT STL A234 1/2 1
WPB BW

FLANGES

6|ALCG |FLG WN 1504 RF STL STD BORE A105[1.1/2| 8
7|ALCG  |FLG WN 150# RF STL STD BORE A105 |12 2
8|ALCG |FLG BLIND 150# RF STL A105 172 2
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |aTy
EL +3°11.5/8" NO
FITTINGS
EL i3y e 9|suPP  |SPS-2 RESTING SUPPORT 12 1
+3'7.5/ / 10| supp éﬁggg;TTwo DIRECTIONAL RESTRAINT [1.1/2] 1
TO DRAIN
E 14'7.7/8" GASKETS
N 1474.13/16"
EL ,3-6,3f4~ 11|ALCG | GASKET 1504 1/8" 304 SPRL wND  [1.1/2] 7

W/FLEXICARB TYPE CG
12|ALCG  |GASKET 1504 1/8" 304 SPRL WND 1/2 4
W/FLEXICARB TYPE CG

BOLTS

13[ALCG  |2.3/4 x1/2" STUD BOLT A193 GR B7 |9/16 | 32
W/2 A194 GR 2H NUTS
14 |ALCG  [2.3/8 x1/2" STUD BOLT A193 GR B7 (9/16 | 16
W/2 A194 GR 2H NUTS

VALVES / IN-LINE ITEMS

15|ALCG  |GATE 150# FLANGED RF C.STL Fé 12 3

TRIM
16|ALCG  |GATE 1504 FLANGED RF C.STL Fé 1/2 2
TRIM
INSTRUMENTS
17 MICRO MOTION FLOWMETER 150§ RF 1.1/2 1
FE 10504
[TRACING SPEC: S-TRACING (NOTE-10)
AREA:  CETYL 2"-ALCG-20031
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 OP.PRESS:g0psig TEST MEDIUM: pydro
DES. TEMP: 40 DES.PRESS: 150 TEST PRESS: 55
SCALE: NONE INSUL.TYPE: ns-ceLLULAR INSUL.THK: 1.5 @
LINE NO. i ISSUE: W
LINEND./ 27— ALCG-20031 R4 |

SHT. 3 OF 7 TCE FORM NO. 027 RO

L



CONT. ON
1/2"-SBH-03003
E 4'1.1/16"

N 14°11.1/8"

EL +2°10.13/16"

CONT. ON
SHT* 5 o7

2.13/16"

12.1/8"
[4]

7.13/16" _|

4.1/4" _|
EL +22.11/16" —1

2x1/2"NS

F13 G18 B21

EL +2'3"

4xw ‘NS

4x2"NS
[F11 Gi6 B19]

8]
1.1/2x1"NS
F12 G17 B20 _

[F12_G17 B20]

6.1/2"

F12 G17 B20
7
A L=
o
# t:,

8.3/4"

FABRICATION MATERIALS
PT [SPEC [COMPONENT DESCRIPTION N.s. [aTy
NO
CONT. FROM PIPE
“SHT' 2 —
1|ALCG  |PIPE STD WT SMLS STL A106-B 4 0.7'
/\ - 2|ALCG |PIPE STD WT SMLS STL A106-B 2 0.8
. P 3|ALCG  [PIPE STD WT SMLS STL A106-B 1 3.9
\|\b®/ P 4|ALCG |PIPE STD WT SMLS STL A106-8 172 | 0.4
A ==
W S FITTINGS
(, 7 5[ALCG  |REDUCER CONC STD WT STL A234 WPB (4 x 2| 1
& BW
i 6|ALCG  |REDUCER CONC STD WT STL A234 WPB |4 x 1
i OEL +577.3/16 BW 1.1/2
b 7|ALCG | THREDOLET 30004 STL A105 ax| 1
| 8|ALCG | TEE STD WT STL A234 WPB BW 12| 1
: %
| 9|ALCG  |WELDOLET STD WT STL A105 2 x 1
il 1/2
0 10|ALCG  |ELL 90 DEG LR STD WT STL A234 |1 2
cONT. FROM o |l WER BN
EL 1i FLANGES
o Fe———
41116 | 11[ALCG  [FLG WN 1504 RF STL STD BORE A105 |2 2
1 12|ALCG  |FLG WN 1504 RF STL STD BORE A105[1.1/2| 3
o if 13|ALCG  |FLG WN 150§ RF STL STD BORE A105[1/2 | 1
| 14|ALCG |FLG BLIND 1504 RF STL A105 12 | 1
I
e i : ERECTION NATERIALS
) \\ | N
‘ ?@ | PT [SPEC [COMPONENT DESCRIPTION N.S. [ary
RN il NO
5 e |
7 N
Yrse Rl | FITTINGS
SN |
'\J 15[SUPP  |SPS-2 RESTING SUPPORT 4 1
1
GASKETS
16|ALCG  |GASKET 150§ 1/8" 304 SPRL WND |2 2
W/FLEXICARB TYPE CG
17|ALCG  |GASKET 1504 1/8” 304 SPRL WND  [1.1/2| 3
W/FLEXICARE TYPE CG
18|ALCG  |GASKET 150# 1/8” 304 SPRL WND |12 | 2
W/FLEXICARB TYPE CG
BOLTS
19ALCG  |3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| 8
W/2 A194 GR 2H NUTS
20[ALCG  [2.3/4 x1/2" STUD BOLT A193 GR B7 [9/16 | 12
W/2 A194 GR 2H NUTS
21|ALC  |2.3/8 x1/27 STUD BOLT A193 &R B7 [9/16 | 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
22|ALCG  |GATE 1504 FLANGED RF C.STL F6 |2 1
TRIM
23|ALCG  |GATE 150# FLANGED RF C.STL F6  [1/2 | 1
TRIM
INSTRUMENTS
24 STANDARD CONTROL VALVE 1504.RF  [1.1/2] 1
B16.10 FV 10504
25 TEMPERATURE TRANSMITTER TE 10535 |1 1
[TRACING SPEC: S-TRACING (NOTE-10)
AReA:  CETYL 2"-ALCG-20031
PIFING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 210 OP.PRESS: a0psig TEST MEDIUM: nyaro
DES.TEMP: 400 DES.PRESS: 150 TEST PRESS: 55
SCALE: NONE INSUL.TYPE: n5-CELLULAR INSUL.THK: 1.5
UNENO. /. TSSUE:
e A LTy B ik R4

SHT. 40 7

TCE FORM NO. 027 RC

SIZE-A3



FABRICATION MATERIALS
PT [SPEC [COMPONENT DESCRIPTION N.S. [aTY
NO
PIPE
CONT. ON =
SHTT 6 N 1|ALCG  |PIPE STD WT SMLS STL A106-B 2 0.9
2|ALCG  |PIPE STD WT SMLS STL A106-B 172 | 1.0°
EL +5'2.7/8" _| F7 G14 B16) FITTINGS
i A 3|ALCG |TEE STD WT STL A234 WPB BW 2x2| 1
. 4|ALCG |WELDOLET STD WT STL A105 2 x 1
| 1/2
!! 5|ALCG |ELL 90 DEG LR STD WT STL A234 |2 1
5 WPB BW
< 6|ALCG |ELL 90 DEG LR STD WT STL A234  |1/2 1
K | EL +4'2.11/16" WPB BW
| /
! : 13.1/4" | FLANGES
w—— B __ /ﬁ
Sy S e Y 5 7|ALCG  |FLG WN 1504# RF STL STD BORE A105|2 5
IS- e . e /////. 22 8|ALCG [STUB END STD WT STL TYPE A A234 1,2 1
) < 3] / 1/2"N5 TS WPB (SHORT PATTERN LENGTH) BW
i 2x1/2"NS [ 9[ALCG  |FLG LAP JOINT 1504 STL A105 1/2 1
If Vo i ) i F11 615 B17 10[ALCG |FLG BLIND 1504 RF STL A105 172 2
/
If << EL +4710.3/8" 1 4.1/4" 11[ALCG  |FLG WN 150# RF STL STD BORE A105[1/2 1
| 782 (0]
S 5 . VALVES / IN-LINE ITEWS
B 2~ [F1d '
T ®~[F7cianig & 12|ALCG  |STRAINER ( BASKET-TYPE ) 150CL. |2 1
EL +4'5.3/4" _| & RF
o TO DRAIN
] 2l E 2'0.3/16" ERECTION MATERIALS
EL +3'10.9/16" _| N 14°1.3/4"
EL +472.3/16" PT |SPEC |COMPONENT DESCRIPTION N.S. |aTy
ND
FITTINGS
13|SUPP  |SPS13A TRUNNION SUPPORT 2 1
CONT. ON
i 27 -cTwa-15001 262°NS GABKETS
§ Sk e 14|ALCG |GASKET 150# 1/8” 304 SPRL WND |2 6
¥ EL +3'1.5/16" W/FLEXICARB TYPE CG
o ’ CONT. FROM 15[ALCG  |GASKET 150# 1/8" 304 SPRL WND  |1/2 4
o S USHT 4 W/FLEXICARB TYPE CG
BOLTS
16[ALCG  |3.1/8 x5/8" STUD BOLT A193 GR B7 [11,16] 24
W/2 A194 GR 2H NUTS
T4 17|ALCG  |2.3/8 x1/2” STUD BOLT A193 GR B7 [9/16 | 16
W/2 A194 GR 2H NUTS
EL +3'1.13/16" [F7 614 Big|
VALVES / [N-LINE ITEMS
18|ALCG  |GATE 1504 FLANGED RF C.STL F& |2 5
TRIM
e I 19[ALCG  [BALL 150§ FLGD RF FULL PORT S.S.|1/2 1
BALL & STEM
F7 Gi4 B16 20|ALCG %\IE 150# FLANGED RF C.STL F6  |1/2 1
. 9
0
i
@ \
15 B17
'~ EL +22.15/16"
4.1/4" |
EL +18.5/8"
[TRACING SPEC: S-TRACING (NOTE-10)
[area:  CETYL 2" _ALCG-20031
PIPING GA NO: = P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 OP.PRESS: 80psiq TEST MEDIUM: wyaro
DES.TEMP: 490 DES.PRESS: 150 TEST PRESS:  g35
SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1.5
LINE NO. . ISSUE:
LNENDA o MU0 R4

SIZE-A3

SHT. S5 OF 7 TCE FORM NO. 027 RO



EL +5'10.1/16"

CONT. FROM
‘SHT' 5

FABRICATION MATERIALS

PT [SPEC |COMPONENT DESCRIPTION N.S. [aTy
EL +61 ’11.13/16“\ NO
Z PIPE
2NS —
1|ALCG  |PIPE STD WT SMLS STL A106-B 2 85.3°
CONT. ON_" |,3" FITTINGS
SHT® 7 2|ALCG  |ELL 90 DEG LR STD WT STL A234 |2 8
WPB BW
FLANGES
3|ALCG  |FLG WN 1504 RF STL STD BORE A105 |2 1
ERECTION MATERIALS
| EL +4670.1/4" PT |SPEC |COMPONENT DESCRIPTION N.S. |aTY
NO
FITTINGS
o FLTTINGS
= 4|SUPP  |SPS-2G GUIDE SUPPORT 2 2
il 5[SUPP  |SPS-2 RESTING SUPPORT 2 2
~ 6|SUPP  [SPS-67G1 support 2 2
¥ 7|SUPP  |SPS-25 TRUNNION SUPPORT 2 1
| EL +35'5.1/8"
GASKETS
8|ALCG  |GASKET 1504 1/8" 304 SPRL WND |2 1
W/FLEXICARB TYPE CG
BOLTS
5|ALCG  [3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16] 4
| EL +25'4" W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
10|ALCG  [GATE 1504 FLANGED RF C.STL F& |2 1
TRIM
ITRAC[NG SPEC: S-TRACING (NOTE-10)
AREA:  CETYL 2" -ALCG-20031
PIFING GA NO: — PLID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 OP.PRESS: 8opsig TEST MEDIUM: hydro
DES. TEMP: 400 DES.PRESS: 5 TEST PRESS: 55
SCALE: NONE INSUL.TYPE: ns-CELLULAR INSUL.THK: 1.5
LINE NO. / . SSUE:
WERDd g por-2on [

SHT. 6 OF 7 TCE FORM NO. 027 RO

SIZE-A3



F4 G8 B9
1.11/16" "’5.1/2'»
_,b_—ELN_g
EL +74°11" <
’ s I
<
a2 ; 5,3/16"
~ @’/ l' /
L f ¥ 5.5/16"
EL +74'5.13/16" / o

EL +71°8.1/2"

SPS-2G-8"
o
™~ s
L
= ~
o
@

|
i
i
i
!
IN WPS-003 » |
|
i
i
i
i

EL +62'10.11/16" _4

[6]
SPS-2G-6" =
IN MPS-004

EL +61'11.13/16"

CONN. TO
50-C-317_N23
E 6'4.1/4"

N 11'9.11/16"
EL +74° 11"

1.13/16"

EL +70°'8.11/16"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
PIPE
1|ALCG PIPE STD WT SMLS STL A106-B 2 25.9°
FITTINGS
2|ALCG ELL 90 DEG LR STD WT STL A234 2 6
WPB BW
3|ALCG  |ELL 45 DEG STD WT STL A234 WPB 2 1
BW
FLANGES
41ALCG FLG WN 1504 RF STL STD BORE A105 (2 1
ERECTION MATERIALS
PT |SPEC COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
5|SUPP  |SPS-2G GUIDE SUPPORT 2 1
&|SUPP | SPS-25 TRUNNION SUPPORT 2 1
7| SUPP SPS25 TRUNNION SUPPORT 2 1
GASKETS
8|ALCG GASKET 1504 1/8" 304 SPRL WND 2 1
W/FLEXICARB TYPE CG
BOLTS
9|ALCG  |3.1/8 x5/8" STUD BOLT A193 GR B7 |[11/16( 4
CONT. FROM W/2 A194 GR 2H NUTS
A USHT 6
|TRAC[NG SPEC: S-TRACING (NOTE-10)
AReA:  CETYL 2" -ALCG-20031
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 OP.PRESS: 80psig TEST MEDIUM: mydro
DES.TEMP: 400 DES.PRESS 45 TEST PRESS: 05
SCALE: NONE INSUL.TYPE: ns-CELLULAR INSUL.THK: 1.5
ISSUE:

LINE NO. /

LR, UM E6E008)

SHT. 7 OF 7 TCE FORM NO. 027 RO

SIZE-A3



cail To
50-C-1121 N4 T ..
E 2'4.1/4" | 2"NS
S 13.3/4" A
EL +63'4.15/16"
L ) aL
Sl
?JI‘I /{:/
P
|
|
A
' " “\
EL +62°7.3/8 ¥~
) |
il
|
o
[l
|
i
|
&
I
|
i
I
i |
I
|
[l
|
I
9 hed
=l S3
1 ==
Wl o
I <t
{ (]
il
i i
|
il
|
il
It
:' EL +48°6.3/8"
f
|
|
|
I
Ii |§|
o
‘\b
F4 69 Bl g2l g
P4 m
F’]T > \i\
]'
7 A F4 69 BUI
i P> 4 EL +48'3.3/8"
h-\' /f
17l
2 K, H [l
Sl
2 1
CONT. ON_=" 7 416/ o @ .
SHT' 2 s g‘n-@l. 2x1/2"NS
i EL +47°9.9/16"
[13]
4.1/4"
EL +47'5.1/4”/

FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG  |PIPE STD WT SMLS STL A106-B 2 21.9
2|ALCG  |PIPE STD WT SMLS STL A106-B 172 | 0.4
FITTINGS
3|ALCG [ELL 90 DEG LR STD WT STL A234 2 4
WPB BW
FLANGES
4|ALCG [FLG WN 1504 RF STL STD BORE A105 |2 3
5|ALCG  |FLG WN 1504 RF STL STD BORE A105 [1/2 1
6|ALCG |FLG BLIND 150# RF STL A105 1/2 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.5. |QTY
NO
FITTINGS
7|SUPP  [SPS-2 RESTING SUPPORT 2 1
8|SUPP  |SPS13A TRUNNION SUPPORT 2 1
GASKETS
9|ALCG  |GASKET 150# 1/8" 304 SPRL WND 2 3
W/FLEXICARB TYPE CG
10[ALCG  |GASKET 1504 1/8“ 304 SPRL WND 1/2 2
W/FLEXICARB TYPE CG
BOLTS
11|ALCG  [3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| 12
W/2 A194 GR 2H NUTS
12|ALCG  [2.3/8 x1/2" STUD BOLT A193 GR B7|9/16 | 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITENS
13|ALCG  |GATE 150# FLANGED RF C.STL F6 1/2 1
TRIM
INSTRUMENTS
14 ON-OFF VALVE 150# RF FV 10513 2 1
TRACING SPEC: S-TRACING (NOTE-10)
ARea: CETYL 2"-ALCG-20037
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP; 200°F OP,PRESS: 32 mhg psig TEST MEDIUM: Hydre
DES.TEMP:400°F DES.PRESS:FV psig TEST PRESS: 75 psig
SCALE: NONE INSUL.TYPE: n5-cELLULAR INSUL.THK; 1.5 inch @
LINE NO. . ISSUE: L
LNE 107 2P-BIEG 05T R3 |5

SHT. 1 OF 2 TCE FORM NO. 027 RO



CONN. TO
50-C-1210_ND
E 2'4.15/16"
S:3°2:1/16°
EL +40"11"

89.40°
EL +41'2.7/8"

3.11/16"

EL +40°11.3/16"

F7 G2 B10

CONN. TO 2"x1"

DIP PIPE NOZZLE)

13.1/2"

CHAIN OPERATED

1x1"NS
EL +41°3"

F7 G9 B10

FABRICATION MATERIALS
R PT |SPEC |COMPONENT DESCRIPTION N.S. |aTY
7 USHT 1 o
PIPE
EL +48°3.3/8" 1|ALCG  |PIPE STD WT SMLS STL A106-B 2 5.5°
2|ALCG  |PIPE STD WT SMLS STL A106-B 1 2.0
FITTINGS
3|ALCG  |REDUCER CONC STD WT STL A234 WPB|2 x 1| 1
BW
4|ALCG  |ELL 90 DEG LR STD WT STL A234 2 3
WPB BW
S[ALCG |TEE STD WT STL A234 WPB BW x| 1
6[ALCG  |ELL 90 DEG LR STD WT STL A234 1 P
WPB BW
FLANGES
7|ALCG  |FLG WN 150# RF STL STD BORE A105 |1 4
8|ALCG |FLG BLIND 150# RF STL A105 1 1
ERECTION MATERIALS
EL +45'6.5/8"
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
GASKETS
9|ALCG |GASKET 1504 1,/8" 304 SPRL WND 1 5
W/FLEXICARB TYPE CG
BOLTS
10[ALCG  |2.9/16 x1/2” STUD BOLT A193 GR  [9/16 | 20
B7 W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
11|ALCG  |GATE 1504 FLANGED RF C.STL F6 1 2
TRIM
EL +42'5.5/16"
2x1"NS
F7 G9 B10
[11]
EL +41°6.15/16"
F7 G9 B10
!
! g
89.40°
EL +41°3.1/8"
{CHAIN OPERATEDY
[TRACING SPEC: S-TRACING (NOTE-10)
ArRea:  CETYL 2"-ALCG-20037
PIPING GA NO: — PEID NO: 1020 STRESS CRITICAL: NA
OP.TEMP; 200°F OP.PRESS: 3 mig psig TEST MEDIUM; Hydre
DES.TEMP:400°F DES.PRESS:FV psig TEST PRESS: 75 psig
SCALE: NONE INSUL.TYPE: ns-CELLULAR INSUL.THK: 1.5 inch
LINE NO. S ISSUE:
i s L oy e 7 R3

SHT. 2 0F 2

TCE FORM NO. 027 RO

SIZE-A3



CONN. TO
50-E-7358_N5
E 2'4.1/4"

N 22.1/8"

EL +65°6.7/16"

8.1/2"

|
\\ EL +65'2.7/16"

EL +64'5.15/16"

CONN. TO /

50-C-1121_N3
E 2°4.1/47
S 1.3/4"

EL +64'5.15/16"

FABRICATION MATERIALS
PT |SPEC [COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG |PIPE STD WT SMLS STL A106-B 2 1.8'
FITTINGS
2|ALCG |ELL 45 DEG STD WT STL A234 WPB |2 5
BY
FLANGES
3[ALCG |FLG WN 1504 RF STL STD BORE A105 |2 2
ERECTION MATERIALS
Eg SPEC  |COMPONENT DESCRIPTION N.S. [QTY
GASKETS
4|ALCG |GASKET 1504 1/8" 304 SPRL WND |2 2
W/FLEXICARB TYPE CG
BOLTS
5[ALCG  |3.1/8 x5/8” STUD BOLT A193 GR B7|11/16| 8
W/2 A194 GR 2H NUTS
[TRACING SPEC: S-TRACING (NOTE-10)
|area:  CETYL 2" _ALCG-20038
PIPING GA NO: — P&D NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 200°F OP.PRESS: 32 mig psig TEST MEDIUM: Hdre
DES.TEMP:400°F DES.PRESS:FY psig TEST PRESS: 75 psig
SCALE: NONE INSUL.TYPE: Ns-cELLULAR INSUL.THK: 1.5 tnch @
- 3
LINE M. om_aYiCG-00038 [P el
SHT. 1 OF 1 TCE FORM NO. 027 RO

|



E 18'5.5/8"
N 23'11.5/16"
EL +54'3.15/16"

5.13/16"
4.1/4"

F8 G10 B12)
6

F8 G10 B12

CONT. ON
1"-ALCG-02001
E 18'5.5/8"

N 22'7.11/16"
EL +54°5.7/16"

1x1/2"NS
EL +54°3.15/16"

2'3.15/16"
2'2.7/16"

E 18'5.5/8"
N 22'7.11/16"
EL +52°1.7/16"

Gl

4x1"NS T~

EL +52'1.7/16"

4]
EL +52'1.13/16"

[F7 G9 B11]

CONN. TO
50-E-7355_N4S1
£ 18'5.5/8"

N 22'7.11/16"
EL +51'4.5/8"

CONN. TO
73-H-8592_N3J2
E 18'5.5/8"

N 21'10.9/16"

EL +52'1.13/16"

FABRICATION MATERIALS
PT [SPEC COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1 1ALCG PIPE STD WT SMLS STL A106-B 1 1.9
2 |ALCG PIPE STD WT SMLS STL A106-B 1/2 0.2'
FITTINGS
3|ALCG |ELBOLET STD WT STL A105 4 x 1 1
4|ALCG ELL 90 DEG LR STD WT STL A234 4 1
WPB BW
S|ALCG TEE STD WT STL A234 WPB BW 1 x 1
1/2
6|ALCG NIPPLE POE/TCE NPT 100MM LONG 1/2 1
ASTM A105
FLANGES
7|ALCG FLG WN 1504 RF STL STD BORE A105 |4 2
8|ALCG FLG WN 1504 RF STL STD BORE A105 [1/2 2
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
GASKETS
9|ALCG  |GASKET 150# 1/8" 304 SPRL WND 4 2
W/FLEXICARB TYPE CG
10[ALCG  |GASKET 1504 1/8" 304 SPRL WND 1/2 2
W/FLEXICARB TYPE CG
BOLTS
11[ALCG 3.9/16 x5/8" STUD BOLT A193 GR 1M/16] 16
B7 W/2 A194 GR 2H NUTS
12 [ALCG 2.3/8 x1/2" STUD BOLT A193 GR B7|9/16 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
13|ALCG BALL 150# FLGD RF FULL PORT S.S. [1/2 1
BALL & STEM
INSTRUMENTS
14 PRESSURE INDICATOR WITH 1/2 1
DIAPHRAGM SEAL PI
[TRACING SPEC: S TRACING (NOTE-10)
AREA:  CETYL 4" -ALCG-02009
PIPING GA NO: — P&ID NO: 1002 STRESS CRITICAL: NA

OP.TEMP; 3%3°F OP.PRESS: 32 mhg psig TEST MEDIUM: Hydro

DES.TEMP:332°F DES.PRESS:FV / 150 psig TEST PRESS: 225 psig

SCALE: NONE INSUL.TYPE: n5-cELLULAR INSUL.THK: 2 tnch
LINE NO. / i ISSUE:
LINE N0/ 4" ALCG-02009

SIZE-A3

SHT. 1 OF 1 TCE FORM NO. 027 RO



CONN. TO
50-E-7358_N2
E2'4,1/47

N 13.1/8"

EL +66'6.7/16"

CONT TO A
4"-ALCG-20010-1INC

1]
(WELD 1/2" STUB-IN P] CONN. ON 45ELBOY b P
Pl WITH GATE VALVE & ORIENTATION IN VERTICAL 3.1/ \‘~\\§

S5 P
f =M =
A

CONN. TO

50-C-1121_N1
E2'4.1/4"

S 1.3/4"

EL +66'2.15/16"

EL +66'2.15/16"

FABRICATION MATERIALS

PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
1|ALCG |ELL 45 DEG STD WT STL A234 WPB (4 2
BW
FLANGES
2|ALCG  |FLG WN 150# RF STL STD BORE A105 |4 2
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
GASKETS
3|ALCG  |GASKET 1504 1/8" 304 SPRL WND 4 2

W/FLEXICARB TYPE CG

BOLTS
4|ALCG  |3.9/16 x5/8" STUD BOLT A193 GR 11/16] 16
B7 W/2 A194 GR 2H NUTS

[TRACING SPEC: S-TRACING (NOTE-10)

ArRea:  CETYL 4" -ALCG-20010

PIPING GA NO: — P&D NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 200°F OP.PRESS: 32 mig psig TEST MEDIUM; Hydro
DES.TEMP:400°F DES.PRESS: 15047V psig TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: hs-CELLULAR INSUL.THK: 2 tnch
LKENO.7 4 10520010 SSUE Ra

SHT. VY OF 1 TCE FORM NC. 027 RO

SIZE-A3



E2'4.1/4"
N 5.1/4"
EL +67'1.1/16"

| S

—

EL +67'1.1/16"

NS

L 1/2NS

i
i
i
|
|
i
53] _j
CONT FROM A
4"_ALCG-20010

A

5.1/8"

2'4.1/4"
5.1/4"

E
N
EL +66'3.15/16"

FABRICATION MATERIALS
PT [SPEC COMPONENT DESCRIPTION N.S. |QTY
NO
E
1|ALCG PIPE STD WT SMLS STL A106-B 1/2 0.8'
ERECTION MATERIALS
L’g SPEC COMPONENT DESCRIPTION N.S. |QTY
INSTRUMENTS
2|ALCG PRESSURE INDICATOR WITH 1/2 1
DIAPHRAGM SEAL
SUPPORTS
3|ALCG  |PIPE SUPPORT ATT POINT 1/2 1
AREA: 4"-ALCG-20010-1NC
PIPING GA NO: P&ID NO: 0 STRESS CRITICAL:
OP.TEMP: OP.PRESS: TEST MEDIUM:
DES.TEMP: DES.PRESS: TEST PRESS:
SCALE: NONE INSUL.TYPE: INSUL.THK:
LNENO- /' 4u_ Al CG-20010-INC R g

SHT. 1 OF 1 TCE FORM NO. 027 RO

| sEea



EL +70'8.5/8"

&ie EL +69'11.5/8"

17.1/2"
77

8.1/2"

6x4"NS
CONN. TO I

50-C-1121_N2

E 2'4.7/4"

S 13.3/4"

EL +69'2.15/16"

4'11.1/16"

3'0.9/16"

22.1/2"

CONT. ON
6"-ALCG-20034
E 2°4.1/4"

S 3'4.3/16"

EL +65'9.9/16"

EL +67°B.1/16"

1/2x1/2°NS

F8 G11 B13

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG PIPE STD WT SMLS STL A106-B 6 4.9°
2|(ALCG |PIPE STD WT SMLS STL A106-B 1/2 0.9°
7.5/16" FITTINGS
.3/16"
69°1.1/16 3|ALCG  |REDUCER CONC STD WT STL A234 WPB (6 x 1
BW
J_E_I 4|ALCG ELL 90 DEG LR STD WT STL A234 6 2
i i WPB BW
| EL #6817, 318 S5|ALCG | TEE STD WT STL A234 WPB BW 1/2 1
| 5.13/16" 172
6|ALCG NIPPLE POE/TOE NPT 100MM LONG 1/2 1
| _4.1/4" ASTM A105
L EL +68'2.7/8" FLANGES
CONNECT TO 7|ALCG  |FLG WN 150# RF STL STD BORE A105 |4 1
ESTERS FROM LCE 8|ALCG |FLG WN 1504 RF STL STD BORE A105|1/2 5
FIELD ROUTED TUBING 9| ALCG FLG BLIND 1504 RF STL A105 1/2 1
E 4'3"
S 3'4.3/16" ERECTION MATERIALS
EL +67°8.1/16"
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
GASKETS
10|ALCG  [GASKET 1504 1/8" 304 SPRL WND 4 1
W/FLEXICARB TYPE CG
11|ALCG  |GASKET 150# 1/8" 304 SPRL WND 1/2 6
W/FLEXICARB TYPE CG
BOLTS
12[ALCG  [3.9/16 x5/8" STUD BOLT A193 GR [11/16| 8
B7 W/2 A194 GR 2H NUTS
13|ALCG 2.3/8 x1/2" STUD BOLT A193 GR B7|9/16 24
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
14|ALCG  |GATE 1504 FLANGED RF C.STL Fé 1/2 2
TRIM
15|ALCG [BALL 1504 FLGD RF FULL PORT S.S. [1/2 1
BALL & STEM
INSTRUMENTS
16 PRESSURE [NDICATOR WITH 1/2 1
DIAPHRAGM SEAL PIT 10523
[TRACING SPEC: S-TRACING (NOTE-10)
AREA:  CETYL 4" _ALCG-20011
PIPING GA NO: — P&D NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 200°F OP.PRESS: 32 mg psig TEST MEDIUM: Hyere

DES.TEMP:400°F

DES.PRESS:FV psig TEST PRESS:

75 psig

SCALE: NONE

INSUL.TYPE: N5-CELLULAR

INSUL.THK: 2 inch

LINE NO. / ;
FILE NAME :  4"-ALCG-20011

ISSUE:

R3

TCE FORM NO. 027 RO

SIZE-A3



CONN.. 16 FABRICATION MATERIALS
203%7357—“4 PT [SPEC  [COMPONENT DESCRIPTION N.S. |QTY
S 2'0.5/8" NO
EL +79'7" -
CHAIN OPERATED 1|ALCG  |PIPE STD WT SMLS STL A106-B 6 16.2°
2|ALCG  [PIPE STD WT SMLS STL A106-B 1 0.5
FITTINGS
o RAEELE
| 3|ALCG  |WELDOLET STD WT STL A105 6x 2 1
F8 G12 B15) 4|ALCG ELL 90 DEG LR STD WT STL A234 6 4
WPB BW
S|ALCG  [REDUCER CONC STD WT STL A234 WPB |1 x 1
6x1"NS BW 1/2
T e 6|ALCG  |NIPPLE POE/TOE NPT 100MM LONG  [1/2 1
Lo ASTM A105
,’/- -
Z= ) FLANGES
£ 11°8.13/16 > O e ialfi
5 5:0.1/16 P + o 7|ALCG  |FLG WN 1504 RF STL STD BORE A105 |6 3
2, EL +78°8 SN : F7 G11 Bl4 8[ALCG |FLG WN 150# RF STL STD BORE A105 |1 2
.5 ///.
i i ) ERECTION NATERIALS
4137160 SR A ’f 10.1,2
N 7 EL +78°3.1/16" PT [SPEC [COMPONENT OESCRIPTION N.S. [aTy
CONT. ON N < ‘y ' d EL +77°4.7/18" o
E";f}hcgﬁggﬁ N Lyt A 12.1/2
. . FITTINGS
S 3'0.7/16" J EoTEEl R B _—
EL +79'6.15/16" EL +77°0.3/4" 9[suPP  |SPS13A TRUNNION SUPPORT 6 1
3.15/16" 10[SUPP  |SPS25 TRUNNION SUPPORT 6 1
4.3/16" EL +76'3.3/4" GASKETS
(PROVIDE 1/8" THICK POLISHED 55 SHEET AT BOTTOM OF SHOE) 11]ALCG ﬁﬁﬁﬁllg’gg L e 4
7 7 12|ALCG  |GASKET 1504 1/8" 304 SPRL WND 1 2
A W/FLEXICARB TYPE CG
BOLTS
{CHAIN OPERATED
13|ALCG  |4.5/16 x3/4” STUD BOLT A193 GR |7/8 8
|§| B7 W/2 A194 GR 2H NUTS
41A L1571 4" Al19 R |7 1
SPRING SUPPORT+GUIDE (0 GAP N-S DIRECTION g 37 3526;{3{ GngﬂDNS%T B L -
!
5B-20006-001 15|ALCG  [2.9/16 x1/2” STUD BOLT A193 GR  [9/16 | 8
B7 W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
16|ALCG  |GATE 150§ FLANGED RF C.STL F6 |6 1
TRIM
17|ALCG  |GATE 1504 FLANGED RF C.STL F6 |1 1
TRIM
INSTRUMENTS
18 ORIFICE PLATE RF 1504 FO 10507 |6 1
19|ALCG  |PRESSURE INDICATOR WITH 172 1
DIAPHRAGM SEAL
CONT. ON
'SHT' 2 “*\\
PROVIDE 1/8" THICK POLISHED SS SHEET AT BOTTOM OF SHOEY
SPRING SUPPORT+GUIDE (0.039"GAPIN-S DIRECTION+LIMIT(0"GAP)E-W DIRECTION
5B-20006-002
[TRACING SPEC: S-TRACING (NOTE-10)
Area: CETYL 6" -ALCG-20006
PIPING GA NO: — PYID NO: 1020 STRESS CRITICAL: NA
OP.TEMP; #0'F OP.PRESS; 32 mHa psig TEST MEDIUM: #rdre
DES.TEMP:400°F DES.PRESS:FV psig TEST PRESS: 75 psig
SCALE: NONE INSUL.TYPE: Ns—cELLULAR INSUL.THK: 3 inch @
LINE NO. / . ISSUE: u
L L. Br=AITE-0006 R3[4

TCE FORM NO. 027 RO

L



E2'4.1/4"
S 4.9/16"
EL +77'6.3/8"

CONT. ON
"SHT' 3 T

F4 G9 B12

F4 G9 B12

EL +75'6.11/16" _|
EL +75"1.9/16"

G10 B13

5.7/8"

'SHT*

™ CONT. FROM

1

FABRICATION MATERIALS
PT [SPEC  |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG  |PIPE STD WT SMLS STL A106-B 6 2.5
2|ALCG  |PIPE STD WT SMLS STL A106-B 1 0.6'
3|ALCG |PIPE STD WT SMLS STL A106-B 1/2 0.7'
FLANGES
4|ALCG |FLG WN 150# RF STL STD BORE A105 |6 2
5|ALCG |FLG WN 150# RF STL STD BORE A105 |1 1
6|ALCG  |FLG BLIND 150# RF STL A105 i 1
7|ALCG  [FLG WN 150f RF STL STD BORE A105|1/2 1
8|ALCG  |FLG BLIND 1504 RF STL A105 172 1
ERECTION MATERIALS
PT |SPEC |[COMPONENT DESCRIPTION N.S. |QTY
NO
GASKETS
9|ALCG  |GASKET 150# 1/8" 304 SPRL WND 6 2
W/FLEXICARB TYPE CG
10|ALCG  |GASKET 1504 1/8" 304 SPRL WND 1 2
W/FLEXICARB TYPE CG
11|ALCG  |GASKET 1504 1/8" 304 SPRL WND 1/2 2
W/FLEXICARB TYPE CG
BOLTS
12|ALCG  [3.15/16 x3/4" STUD BOLT A193 GR |7/8 16
B7 W/2 A194 GR 2H NUTS
13|ALCG  [2.9/16 x1/2" STUD BOLT A193 GR [9/16 | 8
B7 W/2 A194 GR 2H NUTS
14[ALCG  |2.3/8 x1/2" STUD BOLT A193 GR B7[9/16 | 8
Vi/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
15[ALCG  |GATE 150# FLANGED RF C.STL F6 1 1
TRIM
16|ALCG  |BALL 150# FLGD RF FULL PORT S.S. |1/2 1
BALL & STEM
INSTRUMENTS
17 ON-OFF VALVE 1504 RF FV 10511 6 1
[TRACING SPEC: S-TRACING (NOTE-10)
area: CETYL 6" -ALCG-20006
PIPING GA NO: — P&D NO: 1020 STRESS CRITICAL: NA
OP.TEMP: *4¢°F OP.PRESS: 32 ™9 psig TEST MEDIUM; Hydre

DES.TEMP:400°F

DES.PRESS:FY psig

TEST PRESS:

75 psig

SCALE: NONE

INSUL.TYPE: n5-CELLULAR

INSUL.THK: 3 inch

LINE NO. / i
EE NAut . 6"~ALCG-20006

SSUE:
ISSU R3

SIZE-A3

SHT. 2 0OF 3

TCE FORM NO. 027 RO

L



PC
E 2'4.1/4"
N 22.1/8"

EL +77'5.3/4"

G14 B17

F10

CHAIN OPERATED
F9 G14 B17

le]
6x1"NS
K5
&
8.1/2"_| |

EL +77'5.1/16"

EL +76'11.7/8"

8.11/16"

13.7/8"

E 2'4.1/4"
N 22.1/8"
EL +76'3.3/16"

EL +76°3.3/16"

BN s e

EL +74'10.1/4"

CONN. TO
50-E-7358_N1

E 2'4.1/4

N 22.1/8"

EL +74"10.1/8"

/i

-
N

EL +76'7.11/16"

3.15/16"

[12l
(ONLY GUIDE SUPPORT (0 GAP))
(GAP_10mm FROM BOT. OF SHOE TO TOS OF SEC. SUPPORT)

EL +75°6.3/4"

x4"NS
F8 G13 B16

FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |aTy
NO
PIPE
1|ALCG  [PIPE STD WT SMLS STL A106-8 6 1.0°
2|ALCG  [PIPE STD WT SMLS STL A106-B 1 0.2'
3[ALCG |PIPE STD WT SMLS STL A106-B 172 | 0.5
FITTINGS
4|ALCG |REDUCER CONC STD WT STL A234 WPB[6 x 4| 1
W
5|ALCG | THREDOLET 30004 STL A105 6x 1| 1
6|ALCG |ELBOLET STD WT STL A105 6x 1| 1
7|ALCG |ELL 90 DEG LR STD WT STL A234 |6 1
WPB BW
FLANGES
8|ALCG [FLG WN 1504 RF STL STD BORE A105 |4 1
9|ALCG [FLG WN 1504 RF STL STD BORE A105 |1 1
CONT. ON 10|ALCG  [FLG BLIND 1504 RF STL A105 1 1
é;/i ;?1’;‘5-200’5 11|ALCG  |FLG WN 1504 RF STL STD BORE A105 [1/2 1
N 1.5/16" R A
EL +77'4.1/16" BERT ERECTION MATERIALS
EL +7?‘3.15/16"%3\. (CHAIN OPERATED) PT |SPEC [COMPONENT DESCRIPTION N.S. |QTY
J\* NO
EL +76°11.5/8"
! / Fi1 G5 Bi8 R
12|SUPP  |SPS-2 RESTING SUPPORT 6 1
GASKETS
13[ALCG  |GASKET 1504 1/8" 304 SPRL WND |4 1
W/FLEXICARB TYPE CG
14|ALCG  |GASKET 1504 1/8" 304 SPRL WND |1 2
W/FLEXICARB TYPE CG
15|ALCG  |GASKET 1504 1/8” 304 SPRL WND  |1/2 2
W/FLEXICARB TYPE CG
BOLTS
16|ALCG  |3.9/16 x5/8" STUD BOLT A193 GR  [11/16| 8
B7 W/2 A194 GR 2H NUTS
17|ALCG  |2.9/16 x1/2" STUD BOLT A193 GR  [9/16 | 8
B7 W/2 A194 GR 2H NUTS
18|ALCG  [2.3/8 x1/2" STUD BOLT A193 GR B7 [9/16 | 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
19|ALCG  |GATE 150# FLANGED RF C.STL F6 |1 1
TRIM
20|ALCG  |GATE 150# FLANGED RF C.STL F6  |1/2 1
TRIM
6x1/2"NS INSTRUMENTS
21 TEMPERATURE TRANSMITTER TE 10533 [1 1
7. CONT. FROM
" ‘SHT' 2
\\*
o
[TRACING SPEC: S-TRACING (NOTE-10)
ARea:  CETYL 6" -ALCG-20006
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 340°F OP,PRESS: 32 mia psig TEST MEDIUM: Mvdre

DES.TEMP:400°F DES.PRESS:FV psig TEST PRESS: 73 psig

SCALE: NONE INSUL.TYPE: n5-CELLULAR INSUL.THK: 3 tnch

LINE NO. / ISSUE:

FILE NAME :

6" -ALCG-20006

SHT. 3 0F 3 TCE FORM NO. 027 RO

SIZE-A3



CONN. TO

50-E-7357 NS
E 9°6.3/16"
S 15.13/16"

EL +74710,1/8"

EL +71°9.9/16"

EL +65°11.11/16"
©

‘}} |

© i'

i |

L8] |

I

= ll

e=f

|

CO|

o™~ H

EL +63'6.1/4" H

i

15.1/8" L1 |

|

i |l

_6°NS

8.7/8"

EL +71°0.1/16"

SPRING SUPPORT

{SB-20008-001, PROVIDE 1/8” THICK POLISHED SS SHEET AT BOTTOM OF SHOE)

5]
SPRING SUPPORT

{SB-20008-001,PROVIDE 1/8" THICK POLISHED SS SHEET AT BOTTOM OF SHOE)

2
89.40°

FABRICATION MATERTALS
:8 SPEC  |COMPONENT DESCRIPTION N.S. |QTY
PIPE
1|ALCG  |PIPE STD WT SMLS STL A106-B 6 1.0
FITTINGS
2|ALCG [ELL 90 DEG LR STD WT STL A234 6 2
WPB BW
3|ALCG EL.JL 45 DEG STD WT STL A234 WPB |6 2
FLANGES
4|ALCG  |FLG WN 1504 RF STL STD BORE A105 |6 1
ERECTION MATERIALS
:g SPEC  |COMPONENT DESCRIPTION N.S. [QTY
FITTINGS
5|SUPP  |SPS-25 TRUNNION SUPPORT 6 2
6|SUPP  [SPS-67G support 6 1
GASKETS
7|ALCG  [GASKET 1504 1/8" 304 SPRL WND 6 1
W/FLEXICARB TYPE CG
BOLTS
8|ALCG  |3.15/16 x3/4" STUD BOLT A193 GR |7/8 8
B7 W/2 A194 GR 2H NUTS
[ TRACING SPEC: S-TRACING (NOTE-10)
AREA: CETYL 6" -ALCG-20008
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP; 30°F OP.PRESS: 32 mmhg TEST MEDIUM: Hydre

DES.TEMP:400°F

DES.PRESS:F¥

TEST PRESS: 75 psig

SCALE: NONE

INSUL.TYPE: ns-ceLLuLar

INSUL.THK: 2

LNENO. /.
FILE NamE : &7 -ALCG-20008

||ssuE:

R3

SIZE-A3

SHT. 1 OF

2

TCE FORM NO. 027 RO

|



CONT. FROM
‘SHT* 1

89.40°
EL +62'2.1/2"
°
S s
™ o
s ~
& i ™
i n
b )
& L2
=
@
PLATFORM CUTOUT AT EL.46 ‘
| _EL +46'9"
18.7/16" i ;
EL +46°6.11/16" T
i
1]
SN }| 4-WAY GUIDE
5.2 | ] | EL +45°0.1/4"
4
4.7/16" _| |
EL +44'6.3/4" >

F6 G% B10

=

89.40°

B9 Al EL +44'2.5/16 FALL 1:95
EL +44'0.7/8"
5]
EL +44'2.1/16"
FALL 1:95

31,1116

EL +40'11.3/16"

CONN. TO
50-C-1210_NB.
E 310"
Begspn

EL +40°11"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG |PIPE STD WT SMLS STL A106-B 6 19.9
2|ALCG |PIPE STD WT SMLS STL A106-B ke 10.3
FITTINGS
3|ALCG |REDUCER CONC STD WT STL A234 WPB (6 x 3| 1
BW
4|ALCG  |ELL 90 DEG LR STD WT STL A234 6 1
WPB BW
5[(ALCG  |ELL 90 DEG LR STD WT STL A234 3 4
WPB BW
FLANGES
6|ALCG |FLG WN 150# RF STL STD BORE A105 (3 3
ERECTION MATERIALS
PT [SPEC |[COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
7|suUPP support SP5-68G 6 1
B|SUPP  |SP5-2 RESTING SUPPORT 3 1
GASKETS
9|ALCG  |GASKET 1504 1/8" 304 SPRL WND 3 3
W/FLEXICARB TYPE CG
BOLTS
10|ALCG  |3.9/16 x5/8" STUD BOLT A193 GR 11/16( 12
B7 W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
11|ALCG  |GATE 150§ FLANGED RF C.STL Fé 3 1
TRIM
[TRACING SPEC: S-TRACING (NOTE-10)
Area:  CETYL 6" -ALCG-20008
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA

OP.TEMP; 3%°F

OP.PRESS: 32 Mg

TEST MEDIUM: fydre

DES.TEMP:400°F DES. PRESS:FV TEST PRESS: 75 psig

SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 2

LINE NO. . —

FILE NAME/; 6" -ALCG-20008 R3

SHT. 2 0F 2

TCE FORM NO. 027 RO

SIZE-A3



FABRICATION MATERIALS
R PT |SPEC [COMPONENT DESCRIPTION N.S. |aTy
NO
10.1/2" PIPE
,/\§ONT; ON 1|ALCG  [PIPE STD WT SMLS STL A106-B 6 L
SHT" 2 2|ALCG |PIPE STD WT SMLS STL A106-B 1/2 0.9
FITTINGS
3[|ALCG |REDUCER CONC STD WT STL A234 WPB |6 x 4| 2
Bw
F& G11 B14] 4|ALCG  |ELL 90 DEG LR STD WT STL A234 |6 |
WPB BW
5|ALCG  |ELL 90 DEG LR STD WT STL A234  |1/2 1
WPB BW
FLANGES
6|ALCG  |FLG WN 1504 RF STL STD BORE A105 |6 1
7|ALCG  |FLG WN 150# RF STL STD BORE A105 |4 2
8[ALCG  |FLG WN 150# RF STL STD BORE A105|1/2 1
9|ALCG |FLG BLIND 150# RF STL A105 172 1
ERECTION MATERIALS
PT [SPEC [COMPONENT DESCRIPTION N.s. |oTy
NO
FITTINGS
10|SUPP  |SPS-2G GUIDE SUPPORT 6 1
GASKETS
11|ALCG  |[GASKET 150# 18" 304 SPRL WND |6 1
W/FLEXICARB TYPE CG
12|ALCG  |GASKET 1504 1/8" 304 SPRL WND |4 2
W/FLEXICARE TYPE CG
13|ALCG  |GASKET 1504 1/8" 304 SPRL WND [ 1/2 2
W/FLEXICARB TYPE CG
BOLTS
g LR T 14|ALCG  |3.15/16 x374" STUD BOLT AIS3 GR |7/8 | &
£ 204 /4" i il B7 W/2 A194 GR 2H NUTS
S 3'4.3)16" A 0 15|ALCG  |3.9/16 x5/8" STUD BOLT A193 GR  |11/16] 16
EL +65°9.9/16" <} 7 i ¢ 6x1/2"NS B7 W/2 A194 GR 2H NUTS
i Y 4 i i | 16|ALCG  |2.3/8 x1/2" STUD BOLT A193 GR B7(9/16 | 8
6"NS % 8.1/2 il W/2 A194 GR 2H NUTS
1/ ’ i
I%lL 165'0.9/16" 'V’ A i VALVES / IN-LINE ITEMS
4 i
INLZ i 17| Al A ;
4 \. F7 612 815 I LCG %Js 1504 FLANGED RF C.STL F6 |6 1
j 18|ALCG  |GATE 1504 FLANGED RF C.STL F6  [1/2 ]
g9+ 8.1/ OX4NS : TRIM
R : i Q‘i INSTRUMENTS
| o
A T I 19 ON-OFF VALVE 1504 RF FV 10510 |4 1
ESuope T Y JEGIEBIE i
¢ “ N e
EL +64'5.1/8 s \. @H
i
| o
|
4.1/4" : |
I
> !
|
"5-/(94,6 N J
=
EL +64°5.1/8"
iTRACING SPEC: S-TRACING (NOTE-10)
ARea:  CETYL 6" -ALCG-20034
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 304'F OP.PRESS: 3 mig pstg TEST MEDIUM; Hydro

DES.TEMP:400°F

DES.PRESS:FY /150 psig

TEST PRESS: 225 psig

SCALE: NONE

INSUL.TYPE: ns-CELLULAR

INSUL.THK: 3 inch

LINE NO. /

FILE namE . ©7-ALCG-20034

IISSUE:

R3]

SHT. 1 OF

TCE FORM NO. 027 RO

SIZE-A3



FABRICATION MATERIALS

CONT. ON
el T Eg SPEC | COMPONENT DESCRIPTION N.S. |aTy
E 17'8.1/2"
N 14'6.7/16"
EL +58'10.5/8" PIPE
1[ALCG PIPE STD WT SMLS STL A106-B 6 27.8"
2|ALCG  |PIPE STD WT SMLS STL A106-8 4 0.7
FITTINGS
NG fiEab s

3[|ALCG |REDUCER CONC STD WT STL A234 WPB |6 x 4| |
BW

4[ALCG ELL 90 DEG LR STD WT STL A234 6 4
WPB BW
5|ALCG  |ELL 45 DEG STD WT STL A234 WPB |4 2
Bw
& I EL +58'10.5/8"
o M FLANGES
< S
2 6|ALCG  |FLG WN 150# RF STL STD BORE A105 |6 1
- ; 7|ALCG FLG WN 150# RF STL STD BORE A105 |4 1
i
5.1/2" E el +s88.11/16" ERECTION MATERIALS
2.1/2% e PT [SPEC |COMPONENT DESCRIPTION N.S. |Qry
: ‘ 6x4"NS NO
!
EL +58'3.3/16" I‘-\/\ FITTINGS
i WS GLITS
= -2
NG e 8|suPP  |SPS-2G GUIDE SUPPORT 6 2
NG 9|suPP  [SPS-2 RESTING SUPPORT 6 1
EL +58°0.11/16" TN
W GASKETS
. By EL +57'3.9/16" ———
& sa20 LA 4 10|ALCG  |GASKET 1504 1/8" 304 SPRL WND |6 1
Q W/FLEXICARB TYPE CG
F7 GlI B3 11|ALCG  |GASKET 1504 18" 304 SPRL WND |4 1
W/FLEXICARB TYPE CG
o EL +56°10.1/16"
Al
/ 9 BOLTS
CONN. TO o 12| ALCG 3.15/16 x3/4" STUD BOLT A193 GR |7/8 8
73-H-8590 N1J1 B7 W/2 A194 GR 2H NUTS
E 18'5.5/8" 13|ALCG  [3.9/16 x5/8" STUD BOLT A193 GR  |11/16| 8
N 14°6.7/16" B7 W/2 A194 GR 2H NUTS

EL +56°9.15/16"

F6& G10 Bi12
6"NS

CONT. FROM =
"SHT* 1

[a P>
REST+GUIDE >
PLTF EL. 63.9

///
=

P
=
SH
//_// r
z N
- ‘,\4\.
2 2

EL +61°0.3/8"

[TRACING SPEC: S-TRACING (NOTE-10)

AREA:  CETYL 6"-ALCG-20034

PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP; 34'F OP.PRESS; 32 mHg psig TEST MEDIUM; Hyére
DES.TEMP:400°F DES.PRESS:FV /150 psig TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: ns-ceLLULAR INSUL.THK: 3 tnch

LNE 0/ &AL CG 20024 P my

SIZE-A3

SHT. 2 OF 2 TCE FORM NO. 027 RO



TO ATM
E 510.
N 54.1
EL +91"'

EL

7
EL +91°6.3/16"

EL +90°0.3/16"

PROVIDE WEEP HOLE AT LOWEST END

A

N\

16"

AUV ARV ARA VRNV

AWM
{

2'7.7
[RERY

N
AR

e

N

g

19.1,/2"
13/16"
/8"
6.3/16"
+88°10,5/8" ' "'{
o
% O
gl

~.EL +86°10.5/16"

2'0.3/16"

CONN. TO
/504—317)168
E 79"

N 6"1.5/16"
EL +84'10"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG |PIPE STD WT SMLS STL A106-B 8 3.7
FITTINGS
2|ALCG  [ELL 90 DEG LR STD WT STL A234 8 1
wPB BW
FLANGES
3|ALCG  |FLG WN 150 RF STL STD BORE A105 (8 3
ERECTION MATERIALS
Eg SPEC  [COMPONENT DESCRIPTION N.S. |QTY
GASKETS
4|ALCG  [GASKET 150# 1/8“ 304 SPRL WND 8 4
W/FLEXICARB TYPE CG
BOLTS
5|ALCG  [9.1/16 x3/4" STUD BOLT A193 GR  |7/8 8
B7 W/2 A194 GR 2H NUTS
6|ALCG  [4.5/16 x3/4" STUD BOLT A193 GR [7/8 16
B7 W/2 A194 GR 2H NUTS
VALVES / IN-LINE I1TEMS
7|ALCG  |CHECK 1504 FLGD RF C.STL SWING |8 1
FULL PORT F6 TRIM
INSTRUMENTS
8[ALCG |RUPTURE-DISC #150 RF 8 1
[TRACING SPEC: S-TRACING (NOTE-10)
Area:  CETYL 8"-ALCG-20003
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: #14F OP.PRESS: 50/ 32 milg pstg | TEST MEDIUM: Mydre
DES.TEMP;441°F DES.PRESS:150 / FV psig TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: H5-CELLULAR INSUL.THK: 1.5 inch
LINENO. / g+ _ALCG-20003 S e

SHT. 1 OF 1 TCE FORM NO. 027 RO

SIZE-A3



EL +54°10.3/16"

4.3/4"

CONT. ON
4" -ALCG-02009
E 18'5.5/8"

N 22'7.11/16"
EL +54'5.7/16"

CONT. ON
6" -ALCG-20034
E 17°8.1/2"
N 14'6.7/16"
EL +58°10.5/8"

FABRICATION MATERIALS

PT
NO

SPEC

COMPONENT DESCRIPTION

N.S.

QTY

3

ALCG

ALCG

ALCG

PIFE
PIPE STD WT SMLS STL A106-B
FITTINGS

ELL 90 DEG LR STD WT STL A234
WPB BW

FLANGES

FLG WN 150# RF STL STD BORE A105

13.8/

ERECTION

MATERIALS

FT
NO

SPEC

COMPONENT DESCRIPTION

aQry

SUPP

ALCG

ALCG

ALCG

FITTINGS
SPS-2 RESTING SUPPORT
GASKETS

GASKET 150# 1/8" 304 SPRL WND
W/FLEXICARB TYPE CG

BOLTS

2.9/16 x1/2" STUD BOLT A193 GR
B7 W/2 A194 GR 2H NUTS

VALVES / IN-LINE ITEMS

GATE 150# FLANGED RF C.STL Fé
TRIM

INSTRUMENTS

STANDARD CONTROL VALVE 150#.RF
B16.10 PV 10520

9/16

ArRea:  CETYL

1"-ALCG-02001

PIPING GA NO: —

P&D NO: 1002 STRESS CRITICAL: NA

OP.TEMP: 34°F

OP.PRESS: 30 pslg TEST MEDIUM; Mrdro

DES.TEMP:400°F

DES.PRESS: 150 psig TEST PRESS:

225 psig

SCALE: NONE

INSUL.TYPE: n5-cELLULAR INSUL.THK: 1.5 inch

LINE NO. /

FILE NamE ;| —ALCG-02001

ISSUE:

R3

ST, 1 0F 1 TCE FORM NO. 027 RO

| S7EA



CONT. ON
1/2"-N1TA-20041
E 17'8.1/8"
N 7°11.3/4"
EL +4'9.3/4"

CONT. ON
1"-ALCG-20039
E 17'8.1/8"

N 7°6.11/16"
EL +4'0.1/2"

EL +3'0.3/4"

EL +2°5.3/16"
CONT. ON

8.1/16"

F7 G610 B12

A
S
y
F7 G10 B12

3.11/16"
F7 G10 B12

'SHT" 2

3.11/16"

1x1,/2°NS

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
PIPE
1|ALCG  |PIPE STD WT SMLS STL A106-B 1 1.3
2|ALCG  |PIPE STD WT SMLS STL A106-B 1/2 0.4°
FITTINGS
3|ALCG |TEE STD WT STL A234 WPB BW 1 x 1
4|ALCG |TEE STD WT STL A234 WPB BW 1 x 2
1/2
5[ALCG |ELL 90 DEG LR STD WT STL A234 1 1
WPB BW
6|ALCG [ELL 90 DEG LR STD WT STL A234 1/2 1
WPB BW
FLANGES
7|ALCG  |FLG WN 1504 RF STL STD BORE A105 |1 5
8|ALCG |FLG WN 1504 RF STL STD BORE A105[1/2 2
9|ALCG |FLG BLIND 1504 RF STL A105 1/2 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
GASKETS
10|ALCG  |GASKET 1504 1/8” 304 SPRL WND 1 5
W/FLEXICARB TYPE CG
11|ALCG  |GASKET 1504 1/8" 304 SPRL WND 1/2 4
W/FLEXICARE TYPE CG
BOLTS
12[ALCG  [2.9/16 x1/2" STUD BOLT A193 GR  [9/16 | 20
B7 W/2 A194 GR 2H NUTS
13[ALCG  [2.3/8 x1/2" STUD BOLT A193 GR B7 [9/16 | 16
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
14|ALCG  |GATE 150# FLANGED RF C.STL F6 1 2
TRIM
15|ALCG  |GATE 150# FLANGED RF C.STL Fé 1/2 2
TRIM
EL +2'5.1/2"
G11 B13
|TRAC]NG SPEC: S-TRACING (NOTE-10)
AREA:  CETYL 1" -ALCG-20032
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 300°F OP.PRESS: 80 psig TEST MEDIUM: Hydre

DES.TEMP:400°F

DES.PRESS:150 psig

TEST PRESS: 225 psig

SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1.5 incn
LINE NO. / . ISSUE:
LNE B0l 1 “-ALCG-20039 R3

SHT. 1 0F 3

TCE FORM NO. 027 RO

SIZE-A3




FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1[ALCG  |PIPE STD WT SMLS STL A106-B 1 1.2
2|ALCG  |PIPE STD WT SWLS STL A106-B 12 | 0.4
FITTINGS
; 3|ALCG |TEE STD WT STL A234 WPB BW 1x 1] 1
4|ALCG  |TEE STD WT STL A234 WPB BW 1 x 1
1/2
7.1/4" 5[(ALCG |ELL 90 DEG LR STD WT STL A234 |1 1
3.11/16" = "CONT. ON WPB BN
1.1/2" - Lk FLANGES
&/ e
v 6|ALCG  |FLG WN 150# RF STL STD BORE A105 |1 8
7 /A Fé G10 B12 7|ALCG |FLG WN 150# RF STL STD BORE A105 [1/2 1
3.11/16" 8|ALCG |FLG BLIND 1504 RF STL A105 1/2 1
ERECTION MATERIALS
1x1"NS
PT [SPEC |COMPONENT DESCRIPTION N.S. [aQTy
. CONT. ON NO
5 1"-ALCG-20039
E 22'1.1/2" FITTINGS
N 7'1.3/16" E—
Fé G10 B12 EL +20.3/16" 9|SUPP  |SPS-2G GUIDE SUPPORT 1 1
Tx1/2°NS GASKETS
X et
| [F6 610 B12]
10|ALCG  |GASKET 150# 1/8" 304 SPRL WND |1 8
W/FLEXICARB TYPE CG
11|ALCG  |GASKET 150# 1/8" 304 SPRL WND  |1/2 2
EQ W/FLEXICARB TYPE CG
w
/'/.’ i, BOLTS
R 12|ALCG  |2.9/16 x1/2* STUD BOLT A193 GR  [9/16 | 32
v B7 W/2 A194 CR 2H NUTS
’ | 13[ALCG |2.3/8 x1/2" STUD BOLT A193 GR B7(9/16 | 8
% o TAGTHEE W/2 A194 GR 2H NUTS
A !
. VALVES / IN-LINE ITEMS
?g:L fROM F6 G10 B12 4.3/16" /
14|ALCG  |GATE 150# FLANGED RF C.STL F& |1 3
F7 G11 B13 EL +8.9/16" TRIN
EL +12.7/8" 4 15|ALCG %}5 1504 FLANGED RF C.STL F6  |[1/2 1
EL +2'0" l G11 B13]
a4 INSTRUMENTS
16 MICRO MOTION FLOWMETER 1504 RF |1 1
FE 10503
17 STANDARD CONTROL VALVE 1504.RF |1 1
B16.10 LV 10519
1ons| EL +20.3/16"
[TRACING SPEC: S-TRACING (NOTE-10)

AREA:  CETYL 1"-ALCG-20032

PIPING GA NO: — PLID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 300°F OP.PRESS: 80 pslg TEST MEDIUM: Hydro
DES.TEMP:400°F DES.PRESS:150 psia TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: ns-CELLULAR INSUL.THK: 1.5 inch
LHENSL 1 "G P0n52 SR

SIZE-A3

SHT. 2 OF 3 TCE FORM NO. 027 RO



FABRICATION MATERIALS
FOR CONT REFER LINE NO 1"-ALCG-20032-TAS T RIPTION NS, lary
WATCH PT_H. REFER NOTE2 ECT) SPEC  |COMPONENT DESCRIPTIO Q
TAS=TURN AROUND SCOPE
E 33'2.1/4"
N O i.7/8" P1pe
Bl 471 2/8 1|ALCG  |PIPE STD WT SMLS STL A106-B 1 15.4"
F5 G10 2|ALCG  [PIPE STD WT SMLS STL A106-B 12 | 0.4°
FITTINGS
3|ALCG |TEE STD WT STL A234 WPB BW 1 x 1
1/2
4|ALCG |ELL 90 DEG LR STD WT STL A234 1 4
WPB BW
FLANGES
5|ALCG |FLG WN 150# RF STL STD BORE A105 |1 4
6|ALCG  |FLG WN 150# RF STL STD BORE A105 [1/2 1
7|ALCG |FLG BLIND 1504 RF STL A105 1/2 1
ERECTION MATERIALS
P NENT RIPTION N.S. |QTY
EL +7~1,7/a"\? E(T) SPEC  |COMPONENT DESCRIPTI 5,
i FITTINGS
8|SUPP  |SPS13A TRUNNION SUPPORT 1 1
9|SUPP  |SPS-2G GUIDE SUPPORT 1 1
i GASKETS
10|ALCG  |GASKET 1504 1,/8" 304 SPRL WND 1 4
W/FLEXICARB TYPE CG
11|ALCG  |GASKET 1504 1/8" 304 SPRL WND 1/2 2
W/FLEXICARB TYPE CG
BOLTS
) ) 12|ALCG  |2.9/16 x1/2" STUD BOLT A193 GR  |9/16 | 12
EL +6'2.7/8 B7 W/2 A194 GR 2H NUTS
13|ALCG  |2.3/8 x1/2 STUD BOLT A193 GR B7 |9/16 | 8
. W/2 A194 GR 2H NUTS
ol
~
z VALVES / IN-LINE ITEMS
T 14|ALCG  |GATE 150# FLANGED RF C.STL Fé 1 1
TRIM
15|ALCG  |GATE 150# FLANGED RF C.STL Fé 1/2 1
TRIM
EL +21.11/16" | agee
| el
/H SD]RECTLY REST ON PLATFORM)
A\ ja) (SBS13A-20
3]
3 1x1/2"NS
o
- | EL +12.13/16"
CONT. FROM_.~.
‘SHT" 2 | 4.1/4"
2 [15]
[TRACING SPEC: S-TRACING (NOTE-10)
AREA: CETYL 1" -ALCG-20032
PIPING GA NO: — PEID NO: 1020 STRESS CRITICAL: NA
OP.TEMP; 300°F OP.PRESS: 80 psig TEST MEDIUM: Hydro
DES.TEMP:400°F DES.PRESS:150 psig TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1.5 tnch
LINE NO. " ISSUE:
I Il 1" -BlC6-20032 R3

SHT. 3 0F 3 TCE FORM NOQ. 027 RO

SIZE-A3



FABRICATION MATERIALS
PT -|SPEC  |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG  |PIPE STD WT SMLS STL A106-B 1 6.0
FITTINGS
2|ALCG  [ELL 90 DEG LR STD WT STL A234 1 3
WPB BW
FLANGES
. ON
(;'gﬂch-zoosz 3|ALCG  |FLG WN 150# RF STL STD BORE A105 |1 2
E 17'8.1/8"
N 7'6.11/16" ERECTION MATERIALS
EL +4°0.1/2"
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
el NO
FITTINGS
g CONT. ON 4|SUPP  [SPS-2 RESTING SUPPORT 1 1
- 1"-ALCG-20032 S|SUPP  |SPS-2G GUIDE SUPPORT 1 1
: E 22'1.1/2"
N 7'1.3/16" GASKETS
EL +20.3/16" S
6|ALCG  |GASKET 1504 1/8" 304 SPRL WND 1 2
" W/FLEXICARB TYPE CG
0
5 BOLTS
] 7|ALCG  |2.9/16 x1/2" STUD BOLT A193 GR [9/16 [ 8
B7 W/2 A194 GR 2H NUTS
! VALVES / IN-LINE ITEMS
8|ALCG  |GATE 150# FLANGED RF C.STL Fé 1 1
5 TRIM
&
N
o~ EL +2°10.1/2"
5t |
EL +2°'5.3/8"
o
=
e
[
G
L~
EL +20.3/16"
[TRACING SPEC: S-TRACING (NOTE-10)
Aarea:  CETYL 1"-ALCG-20039
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 OP.PRESS: %0psta TEST MEDIUM: Hrdro
DES.TEMP:400 DES.PRESS:150 TEST PRESS: 225
SCALE: NONE INSUL.TYPE: H5-CELLULAR INSUL.THK: 1.5 @
INE NO. B ISSUE: W
HNENS - ALCG-20039 R3 [N

TCE FORM NO. 027 RO



4.1/4"

.‘i\\comq. T0

50-E-7355_N4S3
E 18'5.5/8"

N 15°7.11/16"
EL +49'4.5/8"

2x1/2*NS

I

I

[}
=

I

I

I

i
EL +48°6.9/16" g

SPINDLE W 45 N

F4 G7 B9

EL +48°11.15/16"

EL +47'11.7/16"

2x1/2"NS

EL +47'6.3/4"

P

CONT. ON_—"
"SHT' 2

¥

0.15/16"

[l
EL +47'1.3/8"
0.15/16"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG  |PIPE STD WT SMLS STL A106-B 2 1.0"
2|ALCG  [PIPE STD WT SMLS STL A106-B 1/2 1.0°
FITTINGS
3|ALCG |ELL 45 DEG STD WT STL A234 WPB |2 1
BW
FLANGES
4|ALCG |FLG WN 1504 RF STL STD BORE A105 |2 3
5|ALCG  |FLG WN 1504 RF STL STD BORE A105|1/2 2
6|ALCG |FLG BLIND 1504 RF STL A105 1/2 2
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
GASKETS
7|ALCG  |GASKET 1504 1,/8" 304 SPRL WND 2 3
W/FLEXICARB TYPE CG
8|ALCG  |GASKET 1504 1/8” 304 SPRL WND 1/2 4
W/FLEXICARB TYPE CG
BOLTS
9|ALCG  [3.1/8 x5/8” STUD BOLT A193 GR B7 [11/16| 12
W/2 A194 GR 2H NUTS
10|ALCG  |2.3/8 x1/2" STUD BOLT A193 GR B7|9/16 | 16
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
11|ALCG  |GATE 150# FLANGED RF C.STL F6 2 ]
TRIM
12|ALCG  |BALL 150# FLGD RF FULL PORT S.S. [1/2 2
BALL & STEM
[TRACING SPEC: S-TRACING (NOTE-10)
ARea: CETYL 2"-ALCG-02007
PIPING GA NO: — P&D NO: 1002 STRESS CRITICAL: NA
OP.TEMP: '%5°F OP.PRESS: %0 psta TEST MEDIUM: Hydro

DES.TEMP:400°F

DES.PRESS: 130 psig

TEST PRESS:

225 psig

SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1.5 inch
LINE NO. / ” ISSUE:
LNEND-L Do AlCG-02007 R3

SIZE-A3

SHT. v OF 2

TCE FORM NO. 027 RO



FABRICATION MATERIALS
P CONT.. FRouM PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
¥ LA SHT na
°® ~ 7 PIPE
€ —
‘é 4 1|ALCG  [PIPE STD WT SMLS STL A106-B 2 30.2°
o 3.13/16"
EL +46'8.5/8" FITTINGS
G S
2'NS 2|ALCG |ELL 45 DEG STD WT STL A234 WPB |2 3
BW
= ‘ 3.13/16"
i FLANGES
: 7.3/16" -
EL +46'1,1/2-'\.'.‘~. \ ‘ 3|ALCG  |FLG WN 150# RF STL STD BORE A105 |2 1
A ERECTION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |aTy
o EL +45'3.15/16" s '
BN FITTINGS
b B e
4[sUPP  [SPS-25 TRUNNION SUPPORT 2 1
5|SUPP  |SPS-2G GUIDE SUPPORT 2 1
6[SUPP  [SPS-2 RESTING SUPPCRT 2 1
4] {(5PS25-29"-D) GASKETS
9.9/16" | R
FOR CONT REFER LINE NO 2"-ALCG-02007-TAS 17.3/8" i \EL +43'10.5/8" 7|ALCG  |GASKET 150# 1/8” 304 SPRL WND |2 1
REFER NOTE-2 If W/FLEXICARB TYPE CG
E 19'3.3/16" i
N 36'0.3/8" 5 -:
EL +32711.13/16" < It
alo
™= 1
o = l
ol
=
— |
~o
If
15°3.1/8" i |
' 6'4.5/8 |
| q ] 41/ 75.88°
_______________ N 5D BEND RADIUS
e T — T;T;T;_,——;,_,,llfi_—, ...... T |~| e EL +36'8.5/8"
[ :
14,03
5D BEND RADIUS
EL +32°11.15/16"
h °
i S
"2y o
.9/764 U T
\\
|TRACING SPEC: S-TRACING (NOTE-10)
Area:  CETYL 2"-ALCG-02007
PIPING GA NO: — P&ID NO: 1002 STRESS CRITICAL: NA
OP.TEMP; 195°F OP.PRESS: %0 pstg TEST MEDIUM; Hydro
DES.TEMP:400°F DES.PRESS:150 psia TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: H5-CELLULAR INSUL.THK; 1.5 tnch
LINE NO. B ISSUE:
LHE RS A EG-02007 R3

SHT.

TCE FORM NO. 027 RO

SIZE-A3



EL +49'8.5/16" _|

2x1/2"NS

EL +48'2.5/8"

/4
7
_\5I W
A // EL
P
‘t\\\\
CONT. ON
X

.
7 4
Va4

/4
g il
& 50.16°

5D BE
+4]

"SHT" 2

7
/’6'-

N =

CONT. ON

2"-ALCG-02010

E 18°0.1/8"

N 10"1.11/16"
EL +32°3,3/4"

6'6.15/16"

3'5.5/8"

F5 G8 B10

1
3

5D BEND RADIUS
EL +45°6.5/16"

8.7/16"

CONN, TO
50-E-7355_N4S2
E 18'5.5/8"

N 101.11/16"
EL +51'4.5/8"

7'0.11/16"

L +48'2.5/8"

FABRICATION MATERIALS
PT |SPEC COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1ALCG PIPE STD WT SMLS STL A106-B 2 1144
2 |ALCG PIPE STD WT SMLS STL A106-B 1/2 0.4"
FITTINGS
3| ALCG TEE STD WT STL A234 WPB BW 2 x 2 1
4| ALCG ELL 90 DEG LR STD WT STL A234 e 2
WPB BW
FLANGES
5|ALCG FLG WN 1504 RF STL STD BORE A105 (2 3
6|ALCG FLG WN 1504 RF STL STD BORE A105(1/2 1
7|ALCG FLG BLIND 150# RF STL A105 1/2 1
ERECTION MATERIALS
PT |SPEC COMPQONENT DESCRIPTION N.S. |QTY
NO
GASKETS
8|ALCG GASKET 1504 1/8" 304 SPRL WND 2 3
W/FLEXICARB TYPE CG
91ALCG GASKET 1504 1/8" 304 SPRL WND 1/2 2
W/FLEXICARB TYPE CG
BOLTS
10| ALCG 3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16( 12
W/2 A194 GR 2H NUTS
11 |ALCG 2.3/8 x1/2" STUD BOLT A193 GR B7 [9/16 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
12| ALCG GATE 150# FLANGED RF C.STL Fé 2 1
TRIM
13| ALCG BALL 150# FLGD RF FULL PORT S.S. |1/2 1
BALL & STEM
[TRACING SPEC: S-TRACING (NOTE-10)
[AREA: CETYL 2“_ALCG-02008
PIPING GA NO: — P&D NO: 1002 STRESS CRITICAL: NA

OP.TEMP: '%>'F

OP.PRESS: 50 ple

TEST MEDIUM; Hydro

DES.TEMP:400°F

DES.PRESS:150 psig

TEST PRESS:

225 psig

SCALE: NONE

INSUL.TYPE: N5-CELLULAR

INSUL.THK: 1.5 inch

LINE NO. /
FILE NAME :

2" -ALCG-02008

ISSUE:

R3

SHT. 1 0F 2

TCE FORM NO. 027 RO

| S



FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
CONT. FROM
/’SHT‘ 1 PIPE
]
J 1|ALCG  |PIPE STD WT SMLS STL A106-B 2 28.3"
q FLANGES
i —_
i 2|ALCG |FLG WN 1504 RF STL STD BORE A105 |2 1
I
'J.f/ ERECTION MATERIALS
+ !
0 ’/ PT [SPEC |COMPONENT DESCRIPTION N.S. |QTY
S NO
™ wl
ol /
Y : FITTINGS
<+ 1 © il
75.83° i i o 3[SUPP  |SPS-2G GUIDE SUPPORT 2 1
=D BEND RADIUS ;' .', o 4|SUPP  |SPS-2 RESTING SUPPORT 2 1
EL +37°3.9/16 k ! ./ GASKETS
¢ i
; A " 304 SPRL WN 1
FOR CONT REFER LINE NO 2°-ALCG-02008-TAS ) R e e o el )8
TAS = TURN AROUND SCOPE o
REFER NOTE-2 | N
E 19'10.9/16" ’,;7/-/
N 36'8.3/8" =
EL +32'11.13/16" - ;}\
0.3/8" M
bae
F2 G5 N
N
b
=
o
13.69° ™M
5D BEND RADIUS e
EL +33'0"
AR
[TRACING SPEC: S-TRACING (NOTE-10)
IAREA: CETYL 2"-ALCG-02008
PIPING GA NO: — PYID NO: 1002 STRESS CRITICAL: NA
OP.TEMP; '3'F OP,PRESS: 30 psig TEST MEDIUM: Hydro
DES.TEMP:400°F DES.PRESS:150 psig TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: n5-CELLULAR INSUL.THK: 1.5 incn
LINE NO. N ISSUE:
UNENR - fB-02008 R3

SIZE-A3

SHT. 2 0F 2 TCE FORM NO. 027 RO



EL +55°11.9/16"

FABRICATION MATERIALS

PT |SPEC |COMPONENT DESCRIPTION N.s. |aTy
NO
PIPE
1|ALCG  |PIPE STD WT SMLS STL A106-8 2 |7
FITTINGS
2|ALCG  |ELL 90 DEG LR STO WT STL A234 |2 3
WP BW
FLANGES
-
b - 3|ALCG  |FLG WN 1504 RF STL STD BORE A105 |2 2
EL +63'10.1/8"
0 ATH ERECTION MATERIALS
E 2031t ! 3.3/4 PT |SPEC |COMPONENT DESCRIPTION N.S. laTY
N 7°0.15/16 ul
EL +63°10.1/8"
EL +6373.7/8 FITTINGS
4|SUPP  |SP5-67G1 support 2 1
» GASKETS
B N
L 5|ALCG  |GASKET 1504 1/8" 304 SPRL wND |2 2
i 2o W/FLEXICARB TYPE CG
s
< BOLTS
<

6|ALCG  |3.1/8 x5/8” STUD BOLT A193 GR B7 |11/16| 8
W/2 A194 GR 2H NUTS

~
™~

7.7/8"

3

Q. 36586
PV Nl
10509\ T 5

|1

CONT. ON
2"_ALCG-02008
E 18'0.1/8"

N 10'1.11/18"
EL +52'3.3/4"

5.1,/2
[

EL +53'4.3/8"

F3 G5 B6

INSTRUMENTS
7 ON-OFF VALVE 150# RF PV 10509 2 1
[TRACING SPEC: S-TRACING (NOTE-10)

AREA:  CETYL 2"-ALCG-02010
PIPING GA NO: — P&ID NO: 1002 STRESS CRITICAL: NA
OP,TEMP: '95'F OP.PRESS: 30 psig TEST MEDIUM: Hydre
DES.TEMP:400°F DES.PRESS: 150 psig TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: ns-ceLLuLan INSUL.THK: 1 tnch
LINENO-L . 2"-ALCG-02010 e

SHT. 1 0F 1 TCE FORM NO. 027 RO

SIZE-AZ



CONN. TO
50-C-1210_NE
E 3'0"

S 3'5"

EL +40'7"

EL +40'7.1/8"

CONT. ON
6"-ALCG-20006
E 7°4.3/16"

S 3°0.7/16"

EL +79°6.15/16"

EL +74"10.9/16"
-

| _11.7/8"

1 | EL +73'3.3/8"

g i
REST+4-WAY GUIDEY |
SPSP25-14"-D (.
I =.
i
|I: o
|
k4T
@l N\i EL +63°11.1/4"
(REST+4-WAY GUIDE}
SPSP25-6"- !
14.13/16" %
>
o
©

EL +47°2.1/8"

[e]

REST+4-WAY GUIDE
SPSP25-14"-D

EL +45'6.5/16"
89.40°
EL +45'6.5/8"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|ALCG |PIPE STD WT SMLS STL A106-B 2 44.5'
FITTINGS
2|ALCG  [ELL 90 DEG LR STD WT STL A234 2 5
WPB BW
FLANGES
3|ALCG |STUB END STD WT STL TYPE A A234 |2 2
WPB (SHORT PATTERN LENGTH) BW
4|ALCG  |FLG LAP JOINT 150# STL A105 2 2
5|ALCG |FLG WN 1504 RF STL STD BORE A105 |2 5
ERECTION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |aTY
NO
FITTINGS
6|SUPP  [SPS-25 TRUNNION SUPPORT 2 3
7|SUPP  |SPS-2G GUIDE SUPPORT 2 1
GASKETS
8|ALCG  |GASKET 1504 1/8" 304 SPRL WND 2 5
W/FLEXICARB TYPE CG
BOLTS
9|aLcG |3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16| 20
W/2 A194 GR 2H NUTS
VALVES / IN-LINE I1TEMS
10|ALCG  |GATE 150# FLANGED RF C.STL Fé 2 1
TRIM
[TRACING SPEC: S-TRACING (NOTE-10)
AReA:  CETYL 2"-ALCG-20013
PIFING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: °F OP.PRESS: 32 mmhg TEST MEDIUM: Hydro
DES.TEMP:400°F DES.PRESS:FY TEST PRESS: 75 psiq
SCALE: NONE INSUL.TYPE: K5-CELLULAR INSUL.THK: 2 tnen
ISSUE:

LUNENO. /.
FILE NaME : 2 —ALCG-20013

SHT. 1 OF 1 TCE FORM NO. 027 RO

SIZE-A3



F4 G8 ZL | EL +4'11.9/16"

e

#S_CONT. ON
"SHT' 2

i CONN. TO

50-C-1210_NH
E 30"
S Pz
EL +33'3"

d EL +23'2.5/16"

EL +14'4.11/16"

FABRICATION MATERIALS
f;(T) SPEC  |COMPONENT DESCRIPTION N.S. |QTY
E
11ALCG PIPE STD WT SMLS STL A106-B 2 5190
FITTINGS
2|ALCG ELL 90 DEG LR STD WT STL A234 2 ]
WPB BW
3[ALCG ELL 45 DEG STD WT STL A234 WPB 2 1
BW
FLANGES
41ALCG FLG WN 1504 RF STL STD BORE A105 (2 2
ERECTION MATERIALS
ﬁg SPEC COMPONENT DESCRIPTION N. QTy
FITTINGS
5| SUPP SPS-2 RESTING SUPPORT 2 2
6| SUPP SPS-2G GUIDE SUPPORT 2 2
7|SUPP  |SPS-67G suppert 2 1
GASKETS
8|ALCG GASKET 150# 1/8" 304 SPRL WND 2 2
W/FLEXICARB TYPE CG
BOLTS
9 |ALCG 3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16 4
W/2 A194 GR 2H NUTS
[TRACING SPEC: S TRACING (NOTE_10)
[area: CETYL 2" -ALCG-20030
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 -F OP.PRESS: 30 psig TEST MEDIUM: Hyaro
DES.TEMP: 490 ¢ DES.PRESS: 150 psig TEST PRESS: 355 psig
SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1.5
LINE NO-/ 9% _ALCG-20030 S5 Ra

SHT. 1 0OF 3

TCE FORM NO. 027 RO

SIZE-A3



F& G2 B11

EL +3'4"

CONT. FROM
‘SHT" 1
|
|
|
|
).‘.
[Bial 2 T
SPINDLE W 45 S i
| EL +4'4.3/8"
F5 GB B10
&N
=
EL +3'11.3/4" j
| EL +3°7.1/4"

EL +3'0.1/16"

EL +2'3.1/2"

N

CONT. 69 Bi1
"SHT' 3 13
CONT. ON
1/2"-NITA-11005
E 16°1.3/4"
N 10°8.3/8"
EL +2°4"

FABRICATION MATERIALS
PT |SPEC COMPONENT DESCRIPTION N.S. |QTY
NO
BIPE
1|ALCG |PIPE STD WT SMLS STL A106-B 2 0.9
2 |ALCG PIPE STD WT SMLS STL A106-B 1/2 0.7
FITTINGS
3|ALCG [WELDOLET STD WT STL A105 2 x 1
172
4|ALCG [ELL 90 DEG LR STD WT STL A234 1/2 1
WPB BW
FLANGES
5|ALCG |FLG WN 150# RF STL STD BORE A105 |2 3
6|ALCG  [FLG WN 1504 RF STL STD BORE A105|1/2 2
7|ALCG |FLG BLIND 150# RF STL A105 1/2 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
GASKETS
8|ALCG GASKET 1504 1/8" 304 SPRL WND 2 3
W/FLEXICARB TYPE CG
G|ALCG |GASKET 1504 1/8" 304 SPRL WND 1/2 4
W/FLEXICARB TYPE CG
BOLTS
10|ALCG  |3.1/8 x5/8” STUD BOLT A193 GR B7 [11/16| 16
W/2 A194 GR 2H NUTS
11[ALCG |2.3/8 x1/2" STUD BOLT A193 GR B7|9/16 16
W/2 A194 GR 2H NUTS
VALVES / IN-LINE I1TEMS
12|ALCG |GATE 150# FLANGED RF C.STL Fé6 2 2
TRIM
13[ALCG |GATE 150# FLANGED RF C.STL Fé /2 2
TRIM
[TRAC]NG SPEC: S-TRACING (NOTE-10)
ARea: CETYL 2"-ALCG-20030
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 °f OP.PRESS:30 psig TEST MEDIUM: nygro
DES.TEMP: 400 - DES.PRESS 59 psig TEST PRESS: 555 psig
SCALE: NONE INSUL.TYPE: Ns-CELLULAR INSUL.THK: 1.5
LINE NO. / W ISSUE:
LEND. S P ACE-20030 R4

SIZE-A3

SHT, 20F 3

TCE FORM NOG. 027 RO



FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |aTY
NO
PIPE
1|ALCG |PIPE STD WT SMLS STL A106-B 3 1.9°
2|ALCG  [PIPE STD WT SMLS STL A106-B 2 1.0"
3|ALCG [PIPE STD WT SMLS STL A106-B 1 0.6'
4|ALCG [PIPE STD WT SMLS STL A106-B 34 | 0.7
5|ALCG  [PIPE STD WT SMLS STL A106-B /2 | 1.1
£ 16°1.3/4" FITTINGS
N 1274.7/16"
EL +4'3.1/4" 6|ALCG SEDUCER ECC STD WT STL A234 WPB (3 x 2| 1
7|ALCG |TEE STD WT STL A234 WPB BW 172 x| 1
EL +4'3.1/4" _4 1/2
F15 G22 B26 8|ALCG |ELL 90 DEG LR STD WT STL A234 |2 1
; v 5.13/16" _| WPB BW
EL a2 </ EL +2'10.13/16" 9|ALCG |ELL 90 DEG LR STD WT STL A234 1 1
" /> ’ WPB BW
EL +3'5.1/16" _41/4" EL +276.7/16" ', 10|ALCG |ELL 90 DEG LR STD WT STL A234 1/2 2
WPB BW
F15 G22 B26 11|ALCG  |NIPPLE POE/TOE NPT 100MM LONG 1/2 1
ASTM A105
Do i FLANGES
o */ 1/2x1/2"NS _
S | EL +3'2.3/16" 12|ALCG  |FLG WN 1504 RF STL STD BORE A105 (3 1
~ o 13|ALCG  |FLG WN 1504 RF STL STD BORE A105 |1 i
N F15 G22 B26 14|ALCG |FLG WN 150# RF STL STD BORE A105|3/4 1
57 q : e 15|ALCG  |FLG WN 150# RF STL STD BORE A105[1/2 5
2| g BL: s I8 F12 619 B23 16|ALCG  |FLG BLIND 1504 RF STL A105 172 1
EL +2'6.7/8" _4-1/4" | ERECTION MATERIALS
?018721?7§HU PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
. NO
- 29 N 11°6.5/8"
CONT. FROM 20005, EL +2°6.7/16" EOIETS 58 EL +20 FITTINGS
SHT' 2 ‘4, »
F14 G21 B24 N 10°4.15/16 17|SUPP | SPS13A TRUNNION SUPPORT 2 1
1x3/4"NS EL +278.3/4 18[SUPP  [SPS-24 SUPPORT 1 1
1.11/16"
GASKETS
19|ALCG  |GASKET 1504 1/8" 304 SPRL WND (3 1
W/FLEXICARB TYPE CG
20|ALCG  |GASKET 1504 1/8" 304 SPRL WND 1 1
2x1/2"NS 18, W/FLEXICARB TYPE CG
EL +2'3.1/2" {SECONDARY SUPPORT NOT APPL [CABLEY 21|ALCG  |GASKET 150§ 1/8" 304 SPRL WND  |3/4 1
W/FLEXICARB TYPE CG
22|ALCG  |GASKET 150# 1/8" 304 SPRL WND 1/2 6
& W/FLEXICARB TYPE CG
X /16" OFFSET BOLTS
2 FLAT SIDE UP ——
X 23|ALCG  |2.9/16 x5/8" STUD BOLT A193 GR  |11/16| 4
= B7 W/2 A194 GR 2H NUTS
24|ALCG |2.9/16 x1/2" STUD BOLT A193 GR |9/16 | 4
B7 W/2 A194 GR 2H NUTS
25|ALCG  |2.9/16 x1/2" STUD BOLT A193 GR  [9/16 | 4
B7 W/2 A194 GR 2H NUTS
26|ALCG |2.3/8 x1/2" STUD BOLT A193 GR B7 [9/16 | 24
W/2 A194 GR 2H NUTS
EL +23.9/16"
VALVES / IN-LINE ITEMS
) 27|ALCG  |GATE 150# FLANGED RF C.STL F6 1/2 3
[17] 3 TRIM
:DIRECTLY REST ON PLATFORM)
INSTRUMENTS
28 RELIEF.VALVE.05.16 PSV 20005 1 x 1
3/4
LR R
« CONT. ON "SHT' 3A «
TR R RS
| TRACING SPEC: S-TRACING (NOTE-10)
[amea: CETYL 2"-ALCG-20030
PIFING GA NO: — P&D NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 280 °F OP.PRESS:30 psig TEST MEDIUM: nydro
DES.TEMP: 400 - DES.PRESS: 150 psig TEST PRESS: 205 psio
SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1.5 2
LINE NO. / 5 ISSUE: u
FILE NAME : 2" -ALCG-20030 R4 N

SHT. 3 0F 3

TCE FORM NO. 027 RO

{



	20180720143145912

